
Certshared now are offering 100% pass ensure 642-883 dumps!
https://www.certshared.com/exam/642-883/ (174 Q&As)

 Cisco
Exam Questions 642-883

SPROUTE Deploying Cisco Service Provider Network Routing (SPROUTE)

Guaranteed success with Our exam guides visit - https://www.certshared.com



Certshared now are offering 100% pass ensure 642-883 dumps!
https://www.certshared.com/exam/642-883/ (174 Q&As)

NEW QUESTION 1
In an AS with 10 routers running IBGP, how many IBGP sessions will be required to establish fully meshed IBGP peerings?

A. 10
B. 20
C. 45
D. 50
E. 99
F. 100

Answer: C

NEW QUESTION 2
Refer to the Cisco IOS XR route policy exhibit.

If the original incoming routing update has an MED of 10 and a local preference of 100, how will the routing update be modified?

A. The local preference will be set to 100, the MED will be set to 10, and the weight will be set to 100.
B. The local preference will be set to 100, the MED will be set to 10, and the weight will be set to 200.
C. The local preference will be set to 200, the MED will be set to 10, and the weight will be set to 100.
D. The local preference will be set to 200, the MED will be set to 10, and the weight will be set to 200.

Answer: C

NEW QUESTION 3
Which two unique attributes are used for the loop prevention mechanism when route reflectors are deployed in a network? (Choose two.)

A. local preference
B. originator-ID
C. AS-path
D. next-hop
E. origin
F. cluster-list

Answer: BE

NEW QUESTION 4
Which reserved AS number or range of numbers is used for backward compatibility between old BGP peers using 16-bit AS number and new BGP peers using
32-bit AS number?

A. AS 65001 to 65535
B. AS 65512 to 65535
C. AS 12345
D. AS 23456
E. AS 64001

Answer: D

Explanation: 
 http://www.cisco.com/en/US/prod/collateral/iosswrel/ps6537/ps6554/ps6599/4byte_asnios. pdf
New Reserved AS# AS_TRANS = AS #23456
2-byte placeholder for a 4-byte AS number
Used for backward compatibility between OLD and NEW BGP speakers

NEW QUESTION 5
Which high-availability mechanism is a detection protocol that is enabled at the interface and at the routing protocol levels?

A. NSF
B. SSO
C. NSR
D. BFD
E. SDR

Answer: D
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Explanation: 
http://www.cisco.com/en/US/docs/ios/12_0s/feature/guide/fs_bfd.html

NEW QUESTION 6
When configuring BGP on Cisco IOS XR Software, which address-family is enabled by default?

A. IPv4 unicast
B. IPv6 unicast
C. VPNv4
D. IPv4 unicast and IPv6 unicast
E. IPv4 unicast and IPv6 unicast and VPNv4
F. No address-family is enabled by default.

Answer: F

Explanation: 
 http://www.cisco.com/en/US/docs/ios_xr_sw/iosxr_r3.8/routing/command/reference/rr38bg p.pdf
An address family must be explicitly configured in the router configuration mode for the address family to be active in BGP. Similarly, an address family must be
configured under the neighbor for the BGP session to be established for that address family. An address family must be configured in router configuration mode
before it can be configured under a neighbor.

NEW QUESTION 7
Refer to the exhibit.

R1 is advertising subnets 1.1.1.X/32 via eBGP. XR4 must accept only the first seven subnets in its BGP table. Which configuration must occur on XR2 to meet
these parameters?

A. route-policy INBOUNDif destination in SUBNETS then pass endifrouter bgp 100 neighbor 10.10.14.1 address-family ipv4 unicast route-policy INBOUND in
B. route-policy INBOUNDif destination in FILTER then pass endifrouter bgp 100 neighbor 10.10.14.1 address-family ipv4 unicast route-policy INBOUND in
C. router bgp 100neighbor 10.10.14.1 address-family ipv4 unicast route-policy FILTER in
D. router bgp 100neighbor 10.10.14.1 address-family ipv4 unicast route-policy SUBNETS in

Answer: B

NEW QUESTION 8
Which of the following is a characteristic of dual-multihomed connectivity between an enterprise network and the service provider network or networks?

A. An enterprise network that is connected to two or more different service providers with two or more links per service provider and using BGP to exchange
routing updates with the service providers.
B. Each service provider announces a default route on each of the links that connect to the customer with a different metric.
C. An enterprise network announces a default route to each service provider.
D. Load balancing can be achieved using the maximum-paths command.

Answer: A

NEW QUESTION 9
Which two mandatory tasks must an IS-IS NSF-capable router perform for RP switchover? (Choose two.)

A. Relearn the available IS-IS neighbors.
B. Reacquire the contents of the LSD.
C. Reset peering with the available IS-IS neighbors.
D. Keep the existing contents of the LSD.
E. Rediscover DIS for each link segment.

Answer: AB

NEW QUESTION 10
An engineer has two routers multihomed to the Internet via BGP. The first should be the primary path for all outbound traffic and the second should automatically
become active in the event the primary goes offline. Which method to configure the routers is the most simple?

A. Set the local-preference to be higher on the primary router.
B. Set the local-preference to be lower on the primary router.
C. Set the MED to be higher on the primary router than the backup.
D. Set the primary router to have a higher weight than the backup.
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Answer: A

NEW QUESTION 11
DRAG DROP

A. Mastered
B. Not Mastered

Answer: A

Explanation: 
 Only used within an AS and has a default value of 100 – Local Preference Can use the prepending feature to influence inbound traffic flow – AS_Path
The lower of this value is the more desirable value .Used to influence the incoming traffic flow from the neighbor autonomous systems. -- MED
Proprietary to cisco and no sent to any BGP peers. Its local to router only -Weight

NEW QUESTION 12
An engineer checks the logs in a PE with several customers and sees this output.
*Nov 3 21:44:54:219: %TCP-6-BADAUTH: No MD5 digest from 192.168.1.2(179) to 192.168.1.1(15926) (RST) tableid -0.
Which routing protocol is reporting the issue?

A. RIPng
B. BGP
C. OSPF
D. EIGRP

Answer: B

NEW QUESTION 13
Which statement best describes the function of a BGP af-group?

A. Use templates in different neighbors so it makes the BGP implementation easier.
B. Group different address family neighbors inside BGP.
C. Create a group of neighbors that can inherit address family configuration inside BGP.
D. Substitute the class maps inside BGP on Cisco IOS XR devices.

Answer: B

NEW QUESTION 14
Refer to the show command output in the exhibit.
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For which reason will this router drop all traffic that is destined to the 1.1.1.0/24 network?

A. The 1.1.1.0/24 route is not synchronized.
B. The BGP next hop for reaching the 1.1.1.0/24 network is not reachable.
C. The metric of the 1.1.1.0/24 route is set to 0.
D. The weight of the 1.1.1.0/24 route is set to 0.
E. The 1.1.1.0/24 route is an incomplete route.
F. The IBGP split-horizon rule is preventing the router to use the IBGP route.

Answer: B

NEW QUESTION 15
Refer to the exhibit.

A service provider (AS65000) is interconnected to two upstream providers (ISP 1 neighbor IP 192.168.1.1 and ISP 2 neighbor IP 192.168.1.2) via a single link in a
peering exchange. Which option can an engineer use to implement nonproprietary policies to make ISP 1 the preferred link for incoming and outgoing traffic from
the local SP?

A. route-map outgoing permit 10set-as –path prepend 65000 65000 65000route-map incoming permit 10set local-preference 1000router bgp 65000neighbor
192.168.1.1 route- map incoming outneighbor 192.168.1.1 route-map outgoing in
B. route-map outgoing permit 10set metric 100route-map incoming permit 10set weight 100router bgp 65000neighbor 192.168.1.1 route-map incoming inneighbor
192.168.1.1 route-map outgoing out
C. route-map outgoing permit 10set-as –path prepend 65000 65000 65000route-map incoming permit 10set local-preference 1000router bgp 65000neighbor
192.168.1.1 route- map incoming inneighbor 192.168.1.2 route-map outgoing out
D. set-as –path prepend 65000 65000 65000route-map incoming permit 10set weight 100router bgp 65000neighbor 192.168.1.1 route-map incoming inneighbor
192.168.1.1 route-map outgoing out

Answer: A

NEW QUESTION 16
Which option is a characteristic of intermediate systems on multiarea IS-IS?

A. Level 2 contains routing information only for the local area.
B. Level 2 contains routing information only for stub areas.
C. Level 1 contains routing information only for the backbone area.
D. Level 1 contains routing information onlyfor the local area.

Answer: D
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NEW QUESTION 17
Which three statements are correct regarding the OSPF operations? line (Choose three.)
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A. PE5 OSPFv2 and OSPFv3 router id is 10.5.1.1
B. The OSPF virtual-link cost is 1
C. Area 3 is a transit area
D. Area 4 is using MD5 authentication
E. Area 1 IPv4 and IPv6 networks are not reachable from PE6

Answer: CDE

Explanation: 
#show ip protocols
#show ip route ospf
#show ip ospf interfaces
#show ip ospf neighbors
#show ip ospf database
#show ip ospf border-routers
#show ip ospf
#show ip route
#show ip protocols

NEW QUESTION 18
What are two consequences of having constant link flaps, resulting in the OSPF neighbor adjacencies going up and down repeatedly? (Choose two.)

A. routes getting into the "Stuck In Active" state
B. constant flooding of LSAs
C. OSPF route dampening to occur
D. many SPF recalculations
E. routing loops may temporarily be introduced into the network

Answer: BD

NEW QUESTION 19
Which router(s) is/are IS-Type L1/L2 IS-IS router?
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A. CE5 only
B. PE6 only
C. CE5 and PE6 only
D. PE5 and PE6 only
E. CE5, PE5 and PE6

Answer: D

Explanation: 
#show clns neighbor

NEW QUESTION 20
In which network environment is IS-IS adjacency check important?

A. in a multitopology environment where there are different instances of IS-IS running on the same router
B. in an IPv4/IPv6 environment and running single-topology IS-IS
C. when a level L1/L2 IS-IS router is neighboring with a Level 1 only or Level 2 only router
D. when IS-IS neighbors are in an NBMA environment like over Frame Relay
E. when IS-IS neighbors are in a broadcast environment like an Ethernet LAN

Answer: B

Explanation: 
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